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NUMBeR THEORY /.
MarecH [, 1990
| Z. (Shceo)

3, Qave)

/e EIND THE THREE DGIT COUNTING NMUMBER, WHOSE
DIGITS ARE ALL EVEN AND ALL DIFFERENT. “THE
NUMBER. |s DIWISIBLE BY FoUuR . THE SUM oF
THE DIGITS IS TWELVE, THE SUM OF THE LNITS
AND TENS DIGITS 1S EQUAL TO THE HUNDREDS TIGT.

2 ' =
[, 100,11 i%w 9 terec)

3. FIND THE QuoTIENT IN BASE FRIVE.
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CATEGORY 2
GEDMETRY
MARCH [, 1990

3. N

Ie poiNT O 1S THE CENTER

OF THE CIRCLE AND m £ B0Csg0°
WHAT IS THE MEASURE oF £ BAC.?

USING 3.]4 FoR THE VALUE
OF 1 EIND THE AREA OF
THE SHADED SeciOR.

m £ GYM = 8%
= 2n

TF THE DIAMETER. oFE THE

CIRCLE 18 10N, WHAT IS

THE DIEFERENCE |N THE AREA
OF THE CIRCUMSCRIBED SRUARE
AND THE INSCRIBED SQUARE?




CATEGORY B P,
MY ST ERM

3.

I WHAT NUMBER BETWEEN 100 AND 150 HAS
EXACTLY THREE FACTORS?

2. SIMPLIFY CG!V*E YouR ANSULIER N FRACTION F?QWE“%Q)
C=0-8) (-5 (1-8) (115 )

3. A TEST CONTAINS 42 QUESTIONS SOME oF
which Are WwWoRrH 2 POINTS AND THE REST
OF WHICH ARE WORTR 5 POINTS. TF A

PERFECT SCORE IS 10O, HOW MANY 3 POINT
QALVESTIONS ARE OMN THE TEST?C




CATEGORY <
ARITHMETIC
MARZH |, 1990 -

E|9

THE USE OF CALCULATORS £_§ PERMITTED

oON THIS TEST.

£ RNIE EARNS A COMMISSION of 03576 AS
4 WIDGET SALESMAN. IN 1989 HE SoLD

32,96 MiLl-loN WORTH OF WIDGETS. wHAT
IWAS HIS ¢OMMISSION ©

CBeRETIA  INVESTED ¥ 12850 AT 9.6% AWNUML INEREST
LoMPOONBDED MoNTHLY . Bow MuUCH WAS

HeR  INVEST MENT WORTH AFTER THREE
MONTHS ? (Roump Youlk ANSWER To THE

MEAREST PENNY)

%, MILLIE BouveHT A DRESS AT THE LIMITED

WwHield
ORIGINALLY SoLd FOR BIO8 BUT HAD BEEN

DISCOUNTED B39%. CONNIE BoumHT THE
SAME #1088 DRESS AT CUMMINGS WHERE IT
HAD BEEMN SUCCESSIVELY DistouNTED 12+%, AND

THEN 20% . HOW MUCH MORE DID CONNIE
PAY FOR, THE DRESS?




CATEGORY 5B {. , ,
ALCEBRA,
MARZH 1,1990 2.
3.

[, EEIND 3 ConNSECUTIVE INTEGERS SucH THAT

B TIMES THE SMALLEST Is 16 MoRE THAN
THE LARGEST,

<
A

2. A MAN |g 40O yEARS o©OLD AND HIS Son
1S B YEARS OLD. IN How MANY YEARS
Wik THE MAN BgE 3 TIMES AS OLD AS
His SonM Wil B THEM?

3. MATT Paib " HIS BiLl AT MACDONALDS SHITH
ONLY QUARTERS, DIMES AND PENNIES., He HAD

5 LESS QUARTERS THAN DIMES AND 4 pMmoRreE

PENNIES THAN QUARTERS, IF HIS Birl, wAS

ﬁ?.zg/ How MANY QUARTERS DID HE USE?




TEAM @UESTIONS . .. . o - . B .

ALTHOUGH THE AREA* OF A CIRCLE 1S MEASURED |N
SQUARE UNITS AND THE CIRCUMFEREMNCE IS

MEASURED N UNITS, BoTH THE AREA AND o
FHE CIRCUMFERENCE OF THIS CIRCLE HAVE TRE

Same NUMERICAL VALDE. WHAT 1S THE: RADIUS

0, TELEPHONE ARES CODES ARE MADE UP ofF 3 PIGITS.

THE FIRST DieliT MAY BE 2 THROUGH 9.
“E SECOND 1S BITHER, © o i .

“HE THIRD CAN BE ANY DieiT EXCEPT ZERO. " .
How MANY DIEFERENT AREA COPES ARE ?iﬁ-S«Mt RLE!

z, How MANY oF THE FouRr Dl&IT NU MBER S
WHICH USE THE DIGITS 1,2,,3, L4 ARE
DiviSiaLe BY ELEVEMTY

4. 12%|5%enps IN How Many ZeROS

&




1Y, SeveERAL PEMNNIES ARE SORTED INTO PILES -

ACCORDING TO MINT DATES. THERE ARG 436
N THE- 198G PILE. THERE ARE Yo AS MANY IN . -
THE 1988 PILE AND 2/3 oF THis NUMBER IN
187 AND Y, of THIS NuUMBER IN 1986 AND
Yy oF THIS NUMBER IN 1988. IF THIS

oaTrERN CONTINUES, WHAT 13 THE DATE

(AN THE OLDEST CoOIN?
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SELECTED SocroTioNS !
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2. 100 1= 03, = loZll, -
4 / 2 to - -

.o = %q‘___n:ZSt 45‘5
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GEOMETRY _

2_ SECTOR— 1S '2_-__8___{_)._—0 o ..—..r__ oF CiQCLC |
' 260

o A=Tci(L)
A = a:'—?‘-‘(ﬁ')(%)

A= 21.93%
3. PYTHAG.TH. GIVES SIDE oF INSCRAIRED SQuARE \[-5{3
o S U2 - A: =0 5 ‘
circomsSciiBeD s@uare A= (0" or loo
DiFFERENCE loO ~-Sb = g0
MYSTE B\,
- = o~ [17=12]
[. THE S®UARE oF A PRIME &
2. 2. . 4.5 A -2 L
& ¥ g 10O oo SO

3. WRILE ALEERRAIC SoLosNoM 1S PoSS(BLE
AN OREANIZED (UST:!MN&E, GUESST TEST, LoowkiNG
Fol PATTERA ARG VIABRLE ALTERNANV & STRATEEIES
RESLVLTING In]

3D 54 % (OO Poi NTS
2- 23 46

ARITHMETI .

(. « OO0 0385 X 32.%6x|}0001000:$“'€o‘
2. %1250 X . 096 + | 2mes) =10 int. for Uime.
$E 260 x .06 - | 2. :::ﬂlC).O% tnt Foe 2“&0,
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#1270.08+10. 16 =% 2380. 24
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ALGERLA

L.

2,

B3x= (x+2)+ 16
4o+ v = 3 (-‘8+x)

3- 25K —5)+ (Ox + K-D+4 = 739

TEAM
2.
3,

8:2-9 = (44
THOSE STUDENTS welo VNDERSTAND DiUiseBi|
BY Il wicl RECo&N!ZE TRAT oMLY THE Forlow iNG
ARE DIVWIS 1B
2134  32Y

243 213
5342 432 243 34 2.{

RBECAUSE THE SUMS oF TWE |57 37P a0
meE 2N°4 4th praiTs ARE E@VAL —

wirte v T THIS I INEBorMATION SOME INTERESTING
TEAMM STRATEGLES MAYV DU ELOR
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19239 — 430
R R —243
1937 - (62
19% = 8|
199 s - 4
1934 - 27
t92 3 - | 9
192 2 —
931 - (&
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